# Symmetric Bi-Derivations on Bitonic Systems 

Davoud Ebadi ${ }^{\text {a* }}$, Mohammad Hossein Sattari ${ }^{\text {a }}$<br>${ }^{\text {a }}$ Azarbaijan Shahid Madani University, Tabriz, East Azerbaijan Province, Iran.

Article History: Received: 5 April 2021; Accepted: 14 May 2021; Published online: 22 June 2021
Abstract: This study was conducted to present the concept of symmetric bi-derivations on bitonic systems as a generalized dual BCC-algebraic system and explain the properties of symmetric bi-derivations on bitonic systems.
Keywords: Bitonic system, symmetric bi-derivation, trace, kernel

## 1. Introduction

Derivations play a key role in the theory of rings and algebraic systems. Investigating derivations and generalized derivations of bitonic systems, Shule Ayar Ozbal and Yong Ho Yon introduced the concept of bitonic algebraic system in 2018 [5]. BCI algebra, BCC algebra and BCK algebra have been investigated by researchers such as Zhang and Dudek in 1998, Dudek in 1992, Tanaka and Iseki in 1976 and Xin and Meng in 1992. The concept of derivations in the near-ring and ring theory was applied by Xin and Jun to BCI algebra in 2004. In 2006, derivations in BCK algebra were investigated by Alshahri and Hamza. Two years later, equivalent conditions in which derivations were isotone on lattices with the greatest element were presented by Li and Xin. Gy. Maksa introduced the symmetric biderivations concept [3], and symmetric bi-derivation on rings was investigated by J.Vukman. H. Bresar introduced generalized derivations of rings [10], which were applied to logical systems, including lattices and BCC algebra, which was in turn introduced as generalized BCK algebra by Komori and Dudek [6-8].

Moreover, the generalized derivations and derivations of BCC algebra were addressed in [9]. Despite addressing bi-derivations in literature, bi- derivations on BCC algebra has not been investigated yet.

The algebraic system of $(\mathrm{C}, *, 1)$ is dual BCC algebra that satisfies the following axioms for $a, b$ and $c \in C$ :
(i) $1 * a=a$
(ii) $\mathrm{a} * \mathrm{a}=1$
(iii) $a * b=1, b * a=1 \rightarrow a=b$
(iv) $(a * b) *[(b * c) *(a * c)]=1$
(v) $a * 1=a$

The concept of dual BCC algebra is the generalized Hilbert algebra, Heyting alge- bra, implication algebra and lattice implication algebra. All of these types of algebra satisfy the following condition:

$$
\begin{equation*}
a \leq b \rightarrow b * c \leq a * c, c * a \leq c * b \tag{S}
\end{equation*}
$$

These types of algebra can be therefore considered generalized algebra that satisfies (S).
Bitonic systems play a key role in information technology, networks, coding systems, encoding, security and formal models of secure computer systems. The results of this paper can be applied to bitonic median, bitonic sorters of minimal depth and bitonic networks (Theoretical Computer Science, Journal Elsevier [11]).

## Preliminaries

Certain properties and definitions presented were required for obtaining the results. The properties of bitonic systems mentioned in this article were mainly adopted from [5].

## Definition 1

The algebraic system of $(\mathrm{A}, *, 1)$ is defined as a Bitonic system in which A represents a set, 1 one of its members and $* a$ binary operator acting on the set with axioms as follows being assumed for every $a, b$ and $c \in A$ :
(B1) $a * 1=1$
(B2) $1 * a=a$
(B3) $a * b=1$ and $b * a=1 \rightarrow a=b$
(B4) $a * b=1 \rightarrow(b * c) *(a * c)=1$ and $(c * a) *(c * b)=1$

## Lemma 1

For every $\mathrm{a}, \mathrm{b}$ and $\mathrm{c} \in \mathrm{A}$ as a bitonic system:
(i) $b * c=a * b=1 \rightarrow a * c=1$
(ii) $a * a=1$
(iii) $a *(b * a)=1$

## Definition 2

For $\leq$ defined as a binary operator on the bitonic system of A with $\mathrm{a}, \mathrm{b} \in \mathrm{A}$ :
$a * b=1 \leftrightarrow a \leq b$

According to the axioms, $\leq$ constitutes a partial order on A and 1 the greatest element in A.


Figure 1: The Hasse diagram of bitonic system G in example 1

## Lemma 2

For every $\mathrm{a}, \mathrm{b}$ and $\mathrm{c} \in \mathrm{A}$ as a bitonic system:
(i) $a \leq b * a$
(ii) $a \leq b \rightarrow b * c \leq a * c$ and $c * a \leq c * b$

## Example 1

Let $*$ be defined as a binary operator on $G=\{1, a, b, c, d\}$ as per the following table:

| $*$ | 1 | a | b | c | d |
| :---: | :---: | :---: | :---: | :---: | :---: |
| 1 | 1 | a | b | c | d |
| a | 1 | 1 | b | c | d |
| b | 1 | a | 1 | c | d |
| c | 1 | 1 | 1 | 1 | a |
| d | 1 | 1 | 1 | c | 1 |

$(G, *, 1)$ then constitutes a bitonic system whose Hasse diagram is shown in figure 1.

## Lemma 3

For every $\mathrm{a}, \mathrm{b}$ and $\mathrm{c} \in \mathrm{A}$ as a dual BCC algebra:
$a * b=1 \rightarrow(b * c) *(a * c)=(c * a) *(c * b)=1$

## Theorem 1

Dual BCC algebra constitutes a bitonic system, although the inversion of this theorem is not true. In fact, bitonic system $G$ in example 1 is not dual BCC algebra, since

$$
(x * z) *[(z * w) *(x * w)]=z *(x * w)=z * w=1
$$

## Theorem 2

The following equivalent conditions can be considered for every $a, b$ and $c \in A$ as a bitonic system:
(i) $a * b \leq(b * c) *(a * c)$
(ii) $b *(a * c)=a *(b * c)$

## Definition 3

Binary operator $\bigvee$ is defined as follows for all a and $b \in A$ as a bitonic system:
$a \bigvee b=(a * b) * b$

## Proposition 1

Binary operator V satisfies the following conditions for every $\mathrm{a}, \mathrm{b}, \mathrm{c} \in \mathrm{A}$ as a bitonic system:
(i) $a \vee 1=1,1 \vee a=1$
(ii) $a \leq b \rightarrow a \bigvee b=b$
(iii) $b \leq a \bigvee b$
(iv) $a \leq b, b \leq c \rightarrow a \leq c$ (transitivity)

Proof
(iv) $a \leq b, b \leq c \rightarrow a * c=1 *(a * c)=(a * b) *(a * c)=1 \rightarrow a \leq c$

## Definition 4

For every $a$ and $b \in A$ and assuming the mapping of d on A as a bitonic system defined as d : $\mathrm{A} \rightarrow \mathrm{A}$
$d(a * b)=[a * d(b)] \vee[d(a) * b] \rightarrow \mathrm{d}=(\mathrm{r}, \mathrm{l})$ derivation of A
$d(a * b)=[d(a) * b] \mathrm{V}[a * d(b)] \rightarrow \mathrm{d}=(1, \mathrm{r})$ derivation of A


Figure 2: The Hasse diagram of bitonic system B in example 3

## Example 2

By taking $d 1=1, x=a, y=b, z=c$, and $w=d$ in Example 1, we can define the mapping $d: G \rightarrow G$ by $d(1)=1, d(a)=1, d(y)=y, d(z)=1, d(w)=w$,

As a result, $d$ constitutes a $(r, l)$ derivation rather than a $(l, r)$-derivation, as $d(z * w)=1=x=(d(z) * w) v$ $(z * d(w))$. Moreover, defining the mapping of $\delta: G \rightarrow G$ as
$\delta(1)=1, \delta(x)=x, \delta(y)=1, \delta(z)=1, \delta(w)=w$.
As a result, $\delta$ constitutes a (l,r) derivation rather than a (r, l) derivation, as
$\delta(\mathrm{z} * \mathrm{w})=\mathrm{x}=1=(\mathrm{z} * \delta(\mathrm{w})) \vee(\delta(\mathrm{z}) * \mathrm{w})$

## Example 3

Let * be an operator on $B=\{x, y, 0,1\}$ as per the following table:

| $*$ | 1 | x | y | 0 |
| :---: | :---: | :---: | :---: | :---: |
| 1 | 1 | x | y | 0 |
| x | 1 | 1 | y | y |
| y | 1 | x | 1 | 0 |
| 0 | 1 | 1 | 1 | 1 |

As a result, B constitutes a bitonic system whose Hasse diagram is shown in figure 2. In addition, the mapping of $\boldsymbol{d}: B \rightarrow B$ defined using $\boldsymbol{d}(\mathbf{0})=\mathbf{1}, \boldsymbol{d}(\boldsymbol{y})=\mathbf{1}, \boldsymbol{d}(\boldsymbol{x})=\boldsymbol{x}$ and $\boldsymbol{d}(\mathbf{1})=\mathbf{1}$ constitutes both (1,r) and $(\mathrm{r}, \mathrm{l})$ derivations of B .

## Symmetric bi-derivations of bitonic systems

The basic notions and results are provided as follows:

## Definition 5

For every $x$ and $y \in A$, if $D(x, y)=D(y, x)$, the mapping of $D(.,):. A \rightarrow A$ with A representing a bitonic system is symmetric.

## Definition 6

The mapping of $\mathrm{d}: A \rightarrow A$ defined using $\mathrm{d}(\mathrm{x})=\mathrm{dx}=\mathrm{D}(\mathrm{x}, \mathrm{x})$ for every $x \in A$ as a bitonic system is defined as the trace of $\mathrm{D}(.,):. A \rightarrow A$ as a symmetric mapping.

## Definition 7

If $\mathrm{D}(\mathrm{x} * \mathrm{y}, \mathrm{z})=(x * D(y, z)) \vee(D(x, z) * y)$ for every $\mathrm{x}, \mathrm{y}$ and $\mathrm{z} \in A$, in which A represents a bitonic system and D a symmetric mapping of $\mathrm{D}(.,):. A \rightarrow A$. As a result, D constitutes a symmetric bi-derivation on A in a way that:

$$
\mathrm{D}(\mathrm{x}, \mathrm{y} * \mathrm{z})=(D(x, y) * z) \mathrm{V}(y * D(x, z))
$$

## Example 4

Assume * acts as an operator on $\mathrm{A}=\{0,1, \mathrm{a}, \mathrm{b}\}$ based on the following table:

| $*$ | 0 | b | b | 1 |
| :---: | :---: | :---: | :---: | :---: |
| 0 | 1 | 1 | 1 | 1 |
| a | b | 1 | 1 | 1 |
| b | a | b | 1 | 1 |
| 1 | 0 | a | b | 1 |

Let $\mathrm{D}(.,):. A \rightarrow A$, in which A clearly represents a bitonic system. In addition,

$$
D(x, y)=\left\{\begin{array}{lr}
a r & \text { for } x=y=0 \\
b \text { for } x=0 \text { and } y=a \text { or } y=0 \text { and } x=a \\
1 & \text { otherwise }
\end{array}\right.
$$

As a result, D constitutes a symmetric bi-derivation on A.

## Example 5

Assume that $A=\{a, b, 0,1\}$ satisfies the following table:

| $*$ | a | b | 0 | 1 |
| :---: | :---: | :---: | :---: | :---: |
| a | 1 | 1 | b | 1 |
| b | b | 1 | a | 1 |
| 0 | 1 | 1 | 1 | 1 |

Research Article

| 1 | a | b | 0 | 1 |
| :---: | :---: | :---: | :---: | :---: |

D defined as follows therefore constitutes a symmetric bi-derivation on A.
$\mathrm{D}(\mathrm{x}, \mathrm{y})=\left\{\begin{array}{lr}x \quad \text { for } y=0 \\ y & \text { for } x=0 \\ b & \text { for } y=x=a \\ 1 & \text { otherwise }\end{array}\right.$

## Remark

Assume $\mathrm{D}_{1}(\mathrm{x}, \mathrm{y})=\mathrm{x} * \mathrm{y}$ and $\mathrm{D}_{2}(\mathrm{x}, \mathrm{y})=\mathrm{y} * \mathrm{x}$ for B as a bitonic system. $\mathrm{D}_{1}$ and $\mathrm{D}_{2}$ cannot be, however, necessarily considered symmetric bi-derivations on B unless B is a lattrice [5].

## Proposition 2

For $x \in A$ and d representing the trace of a symmetric bi-derivation D on A as a bitonic system:
(i) $\mathrm{D}(1, \mathrm{x})=1$
(ii) $\mathrm{d} 1=1$

Proof
(i) For every x and $\mathrm{y} \in \mathrm{A}$ :
$\mathrm{D}(1, \mathrm{x})=D(x * 1, x)=(x * D(1, x)) \vee(D(x, x) * 1)=(x * D(1, x)) \vee=1$
(ii) is also proved based on the cited reasoning.

## Proposition 3

For every x and $\mathrm{y} \in \mathrm{A}$ as a bitonic system with d representing the trace of a symmetric bi-derivation of D on A :
(i) $\mathrm{D}(\mathrm{x}, \mathrm{y}) \vee x=\mathrm{D}(\mathrm{x}, \mathrm{y})$
(ii) $\mathrm{x}, \mathrm{y} \leq \mathrm{D}(\mathrm{x}, \mathrm{y})$
(iii) dx$) \vee x=d x$
(iv) $\mathrm{x} \leq \mathrm{d}^{2} \mathrm{x}$ and $\mathrm{x} \leq \mathrm{dx}$
(v) $d^{2} x=d x$

Proof
i) For every $x, y \in A$ :
$D(x, y)=D\left(1^{*} x, y\right)=[1 * D(x, y)] \vee[D(1, y) * x]=D(x, y) \vee\left(1^{*} x\right)=D(x, y) \vee x$.
ii) Can be obviously proved based on Lemma 1 and (i).
iii and iv) For every $x \in A$ :
$d x=D(x, x)=D(1 * x, x)=D(x, x) \vee(1 * x)=d x \vee x$.
$\mathrm{x} \leq \mathrm{d}(\mathrm{x})$ for every $\mathrm{x} \in A$. Given that $\mathrm{x} \leq \mathrm{d} \mathrm{x} \leq \mathrm{d}^{2} \mathrm{x}, \mathrm{x} \leq \mathrm{d}^{2} \mathrm{x}$.
v) $d x \leq d^{2} x \rightarrow d x^{*} d^{2} x=1 ; x \leq d^{2} x \rightarrow 1=x * d x \leq d^{2} x * d x \leq 1$. As a result, $d^{2} x * d x=1$. According to definition 1 , $B(3), d^{2} x=d x$.

## Proposition 4

For every $\mathrm{x}, \mathrm{y} \in \mathrm{A}$ as a bitonic system with d representing the trace of a symmetric bi-derivation of D on A:

```
dx*y\leqx*y\leqx*dy
```

Proof
According to Proposition 3, $x \leq d y$ and $x \leq d x$. According to Lemma 2, $d x * y \leq x * y \leq x * d y$

## Lemma 4

For $\mathrm{x} \in \mathrm{A}$ as a bitonic system with d representing the trace of a symmetric bi-derivation of D on A :
(i) $\mathrm{D}(\mathrm{dx} * \mathrm{x}, \mathrm{x})=1$
(ii) $\mathrm{d}(\mathrm{dx} * \mathrm{x})=\mathrm{d}(\mathrm{x} * \mathrm{dx})=1$

## Proof

i) According to theorem 2, the properties of bitonic systems (B1) and (B2) and the definition of symmetric biderivation $D$ of bitonic systems:

$$
\mathrm{D}\left(\mathrm{dx} \mathrm{x}^{*}, \mathrm{x}\right)=[\mathrm{dx}, \mathrm{D}(\mathrm{x}, \mathrm{x})] \vee\left[\mathrm{D}(\mathrm{dx}, \mathrm{x})^{*} \mathrm{x}\right)=(\mathrm{dx}, \mathrm{dx}) \vee\left[\mathrm{D}(\mathrm{dx} * \mathrm{x})^{*} \mathrm{x}\right]=1
$$

ii) According to the properties of bitonic systems and the definition of the trace of a symmetric bi-derivation D of these systems:
$\mathrm{d}(\mathrm{dx} * \mathrm{x})=\mathrm{D}(\mathrm{dx} * \mathrm{x}, \mathrm{dx} * \mathrm{x})=[\mathrm{dx} * \mathrm{D}(\mathrm{x}, \mathrm{dx} * \mathrm{x})] \vee[\mathrm{D}(\mathrm{dx}, \mathrm{dx} * \mathrm{x}) * \mathrm{x}]=[\mathrm{dx} *(\mathrm{dx} * \mathrm{dx}) \mathrm{V}(\mathrm{D}(\mathrm{x}, \mathrm{dx}) * \mathrm{x})] \vee[\mathrm{D}(\mathrm{dx}, \mathrm{dx} * \mathrm{x}) * \mathrm{x}]=[\mathrm{dx} *(1$ $\left.\left.\mathrm{V}\left(\mathrm{D}(\mathrm{x}, \mathrm{dx})^{*} \mathrm{x}\right)\right)\right] \mathrm{V}(\mathrm{D}(\mathrm{dx}, \mathrm{dx} * \mathrm{x}) * \mathrm{x})=[\mathrm{dx} * 1] \mathrm{V}(\mathrm{D}(\mathrm{dx}, \mathrm{dx} * \mathrm{x}) * \mathrm{x})=1 \mathrm{~V}(\mathrm{D}(\mathrm{dx}, \mathrm{dx} * \mathrm{x}) * \mathrm{x})=1$.

The second equality is proved given $\mathrm{d}(\mathrm{x} * \mathrm{dx})=\mathrm{d} 1=1$.
In [5] the notion of the kernel was introduced for a derivation, where a characteri- zation was given. Although, the trace of a bi-derivation $D: A A A$, say $d$, is not necessarily a derivation, nevertheless we can give a similar characterization for $d$. Take $d$ as before and set:

## Proposition 5

$\operatorname{Ker} d=\{x \in A \mid d x=1\}$.
Ker $d=\{d x * x \mid x \in A\}$ for $A$ as a bitonic system with $d$ representing the trace of a symmetric bi-derivation $D$ on A.

## Proof

According to Lemma 4(ii), $\{d x * x \mid x \in A\} \subseteq$ Ker d. Let $y \in$ Ker d, then $d y=1$ and therefore $y=d y * y$, i.e. Ker $d \subseteq\{d x * x \mid x \in A\}$.

## Remark

As mentioned above, the conclusion of the Proposition 5 holds for any derivation, but by taking $d$ as the trace of the bi-derivation $D$, defined in example 5, we can get mapping $d$ that is not a derivation but satisfies in the Ker $\mathrm{d}=$ $\{d x * x \mid x \in A\}$.

## Theorem 3

$D$ is a symmetric mapping that satisfies $D(x, y * z)=y * D(x, z)$ for every $x, y, z \in A$ if and only if the mapping $\mathrm{D}: \mathrm{A} \times \mathrm{A} \rightarrow \mathrm{A}$ is a symmetric bi-derivation.

## Proof

Let a symmetric mapping D: A A A satisfy $D\left(x, y^{\times}{ }_{*}\right)=y \quad D(x, z)$ for all $x, y, z$ A . We show that D is a bi-derivation on $\mathrm{A} \underset{*}{\mathrm{~A}}$. First of all, we prove that ${\underset{x}{*}}^{*} \mathrm{D}(\mathrm{x}, \mathrm{y})=1_{*}$. We hâve, $\mathrm{D}(1, \mathrm{y})=\underset{*}{\mathrm{D}}(\mathrm{D}(1, \mathrm{y})$ $1, \mathrm{y})=\mathrm{D}(\mathrm{y}, \mathrm{D}(1, \mathrm{y}) 1)=$

$$
\begin{aligned}
& D(1, y) D(y, 1)=D(1, y) D(1, y)=1 \text {. Thus, } x D(x, y)=x D(y, x)=D(y, x *)= \\
& D(y, 1)=1 \text {. For every } x, y \quad A, y \quad D(y, x) \in B(x, y) \text { and } z D(z, x)=D(x, z) \leq
\end{aligned}
$$

we have,
$\mathrm{D}(\mathrm{x}, \mathrm{y}) * \mathrm{z} \leq \mathrm{y} * \mathrm{z} \leq \mathrm{y} * \mathrm{D}(\mathrm{x}, \mathrm{z})$.
Hence $\mathrm{D}(\mathrm{x}, \mathrm{y} * \mathrm{z})=\mathrm{y} * \mathrm{D}(\mathrm{x}, \mathrm{z})=1 *(\mathrm{y} * \mathrm{D}(\mathrm{x}, \mathrm{z}))=((\mathrm{D}(\mathrm{x}, \mathrm{y}) * \mathrm{z}) *(\mathrm{y} * \mathrm{D}(\mathrm{x}, \mathrm{z})) *$
$(y * D(x, z))=(D(x, y) * z) \vee(y * D(x, z))$, suggesting that $D$ is considered a bi-derivation.
Moreover, $\mathrm{D}: \mathrm{A} \times \mathrm{A} \rightarrow \mathrm{A}$ is a symmetric bi-derivation. For all $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{A}, \mathrm{y} \leq \mathrm{D}(\mathrm{x}, \mathrm{y})$ and $\mathrm{z} \leq \mathrm{D}(\mathrm{x}, \mathrm{z})$
and so,
$\mathrm{D}(\mathrm{x}, \mathrm{y}) * \mathrm{z} \leq \mathrm{y} * \mathrm{z} \leq \mathrm{y} * \mathrm{D}(\mathrm{x}, \mathrm{z})$.

Hence $D(x, y * z)=(D(x, y) * z) \vee(y * D(x, z))=y * D(x, z)$.

## Remark

Note that, by symmetry, we can institute the identity in Theorem 3 with,
$\mathrm{D}(\mathrm{x} * \mathrm{y}, \mathrm{z})=\mathrm{x} * \mathrm{D}(\mathrm{y}, \mathrm{z}) \quad$ for every $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{A}$

## Corollary

For every $\mathrm{x}, \mathrm{y} \in \mathrm{A}$, if $\mathrm{D}: \mathrm{A} \times \mathrm{A} \rightarrow \mathrm{A}$ constitutes a symmetric bi-derivation with d representing the trace of D :
(i) $\mathrm{D}(\mathrm{x}, \mathrm{x} * \mathrm{y})=1$
(ii) $\mathrm{d}(\mathrm{x} * \mathrm{y})=\mathrm{x} *(\mathrm{x} * \mathrm{dy})$

## Proof

Given D as a symmetric bi-derivation,

$$
\mathrm{D}(\mathrm{x}, \mathrm{x} * \mathrm{y})=\mathrm{D}(\mathrm{x} * \mathrm{y}, \mathrm{x})=\mathrm{x} * \mathrm{D}(\mathrm{y}, \mathrm{x})=\mathrm{x} * \mathrm{D}(\mathrm{x}, \mathrm{y})=\mathrm{D}(\mathrm{x} * \mathrm{x}, \mathrm{y})=\mathrm{D}(1, \mathrm{x})=1
$$

For every $\mathrm{x}, \mathrm{y} \in \mathrm{A}$,
$d(x * y)=D(x * y, x * y)=(x * D(y, x * y))$
$=(\mathrm{x} * \mathrm{D}(\mathrm{x} * \mathrm{y}, \mathrm{y}))$
$=(\mathrm{x} *(\mathrm{x} * \mathrm{D}(\mathrm{y}, \mathrm{y})))$
$=x *(x * d y)$.

## Corollary

For A as a bitonic system and $\mathrm{D}: \mathrm{A} \times \mathrm{A} \rightarrow \mathrm{A}$ as a symmetric bi-derivation with trace d and $\mathrm{x} *(\mathrm{y} * \mathrm{z})=(\mathrm{x} * \mathrm{y}) *(\mathrm{x} * \mathrm{z})$ for every $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{A}$ :
$d(x * y)=x * d y$
Note that this property holds in Example 1.

## References

1. Y. C, Even, Symmetric bi-derivations of Lattices, Quaestiones Mathematicae, 32(2) (2009), 241-245.
2. T. Y. Li, J. H. Lu and X. L. Xin, On Derivations of Lattices, Information Sciences, 17(8), (2008) 307-316.
3. J. Vukman, Symmetric bi-derivations on prime and semi-prime rings, Aequationes Mathematicae, 38(3) (1989) 245-254.
4. R. A. Borzooei, S. Khosravi Shoar, Implication algebras are equivalent to the dual implicative BC K -algebras. Sci. Math. Jpn, 63(3) (2006) 429-431.
5. Yong Ho Yon and Sule Ayar Ozbal, on derivations and generalized derivations of bitonic algebras. Applicable analysis and discrete mathematics. 49(2) (2018) 110-125.
6. Y. Komori, The class of BCC-algebras is not variety. Math. Jpn. 29(3) (1984) 391-394.
7. W. A. Dudek, The number of subalgerbas of finite BCC-algebras. Bull. Inst. Math, 20(2), (1992) 129-135.
8. K. Iseki, S. Tanaka, An introduction to the theory of BCK-algebras. Math. Jpn, 23 (1978), 1-26.
9. C. Prabayak, U. Leerawat, On derivations of BCC-algebra. Kasetsart Journal, 43(3) (2009), 401.
10. H. Bresar, On the distance of the composition of two derivations to the generalized derivations. Glasgow Math. J, 33 (1991), 89-93.
11. T. Levi, A. L. Man, Bitonic sorters of minimal depth. Theorical Computer Scince Journal, Elsevier, 412 (2011) 2282-2295.
